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Costs of rides are:
Galaxy     - £1.65
Laser       - £2.80
Big Wheel - £1.45
Spaceship - £2.70
Amy went on two rides. She
had £5.65 change from £10.
Which two rides did she go on?
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Use a calculator or written
method.
4030 people go to a football
match.
Each ticket costs £4.25.

How much money is made?
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Three people won £363,630
on the lottery, to be shared
equally between them.

How much does each person
get?
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Find the cost of 145
bottles of lemonade at 21p
each.

What change do you get
from £50?
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Things at half price now cost:

   £36.18   £111   £27.34

What was the original price of
each item?
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How much does one of each
cost?
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10 for £3.90

100 for £16.00

5 for £1.55


